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KVS Memory Based Question PDF - For TGT English (13 Feb 2023, Shift 1) 
 

KVS General English Memory Based 
Questions 

 
Q1. Identify the segment in the sentence, which 

contains the grammatical error. 
To be interested in the changing seasons is a 
happy state of mind than to be hopelessly in 
love with spring. 
(a) To be interested 
(b) a happy state of mind 
(c) hopelessly in love with spring 
(d) in the changing seasons 
Ans. (b) 

 
Q2. Identify the segment in the sentence, which 

contains the grammatical error. 
We are witnessing the worse level of income 
inequality in decades. 
(a) in decades 
(b) the worse level of 
(c) income inequality 
(d) are witnessing 
Ans. (b) 

 
Q3. Find the synonym  
 Frivolous 
 (a) Captious 
 (b) Wise 
 (c) Puerile 
 (d) Spiritual 

Ans. (c) 
 
Q4. Find the antonym  
 Outlandish 
 (a) Droll` 
 (b) Kinky 
 (c) Common 
 (d) Grotesque 

Ans. (c) 
 

Q5. select the alternative which is the best 
substitute for the phrase. 
A gesture expressing respect, such as a bow. 

 (a) consensual 
 (b) obeisance 
 (c) perk 
 (d) germinate 

Ans. (b) 
 
Q6. My sister's marriage passed _____ peacefully. 
 (a) away 
 (b) by 
 (c) off 
 (d) out 
 Ans. (c) 
 
Q7. _______ you work hard, you cannot succeed. 
 (a) If 
 (b) Till 
 (c) Until 
 (d) Unless 

Ans. (d) 
 
Q8. Identify the part of speech of the bold words. 

My doctor speaks in a calm voice. 
(a) Interjection 
(b) Noun 
(c) Preposition 
(d) Verb 
Ans. (d) 

 

KVS General Hindi Memory Based 
Questions 

 

Q1. ‘अनुचर’ का पर्ाार्वाची शब्द क्र्ा क्र्ा ह?ै  

(a) द्रमु  

(b) दंती  

(c) ककंकर  

(d) अर्चा         

Ans. (c)                
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Q2. ‘जागरण का ववलोम शब्द ह-ै  

(a) विग्ध  

(b) शर्न  

(c) रुक्ष                 

(d) ववषाद  

Ans. (b)  

 

Q3. ‘महात्मा’ शब्द का संवध-ववच्छेद ह-ै  

(a) महा + आत्मा                                  

(b) मह + आत्मा  

(c)  महा + तमा  

(d) मह + आत्म                  

Ans. (a):  

 

Q4. ‘बवहमुाख’ का संवध–ववच्छेद क्र्ा होगा?   

(a) बवहर + मखु  

(b) बवह + रमखु  

(c) बवह + मुाख  

(d) बवह: + मुख  

Ans. (d) 

 

Q5. ‘धमाभीरु’ में कौन सा समास ह-ै 

(a) बहूब्रीवह  

(b) तत्पुरुष  

(c) अव्यर्ीभाव  

(d) द्वदं्व  

Ans. (b) 
 

Q6. ‘लोटा’ ककस प्रकार का शब्द ह-ै  

(a) तत्सम  

(b) तद्भव  

(c) देशज  

(d) ववदेशज  

S6. Ans. (c) 
 

Direction (Q7 – Q10): वनम्नवलवखत गद्ांश को 

ध्र्ानपूवाक पकिए और प्रश्न का उत्तर देने के वलए उवचत 

ववकल्प का चर्न कीवजए।  

वाणी ही मनुष्र् के व्यवित्व का सवाशे्रष्ठ अलंकार ह।ै 

वास्तव में वाणी के द्वारा ही मनुष्र् अपने ववचारों का 

आदान-प्रदान दसूरे व्यविर्ों से करता ह।ै इसके 

अवतररि मनुष्र् के जीवन पर भी वाणी का अवधक 

प्रभाव पड़ता ह;ै क्र्ोंकक जो अपनी वाणी समुवचत रूप 

में प्रर्ोग करते हैं, उन व्यविर्ों के लोगों से मधुर एवं 

आत्मीर् सम्बन्ध बन जाते हैं। उनसे लोगों में कटुता की 

भावना व्याप्त हो जाती ह।ै लोक-प्रवसद्ध कहावत ह ैकक 

‘‘बाताहह ंहाथी पाइर्े, बातहह ंहाथी पााँव’’। कवव ने कहा 

ह-ै ‘‘कागा कासों लेत ह,ै कोककल काको देर्। मीठी बोली 

बोल के जग अपनों करर लेर्’’, मधुर वचन अमृत के तुल्र् 

होता ह ैजो मुरझाए जीवों में नए प्राण का संचार कर 

देता ह।ै कटु वचन, चाह ेसत्र् से पूररत हो, कोई सुनना 

नहीं चाहता, इसीवलए सामावजक, वशष्टाचार के 

वनर्ामकों ने कहा ह-ै ‘‘सत्र्ं ब्रूर्ात् वप्रर् ंब्रूर्ात् न ब्रूर्ात् 

सत्र्मवप्रर्ं।’’ 
 

Q7. कोर्ल और कौवे में मुख्र् अन्तर- 

(a) उनके रंगों के कारण है 

(b) आकार के कारण ह ै           

(c) बोली के कारण ह ै          

(d) पालतू और अपालतू होने के कारण हैं, 

Ans. (c) 
 

Q8. क्र्ों कहा गर्ा ह ैकक ‘वप्रर् सत्र्ं ब्रूर्ातं्’, इसवलए कक- 

(a) लोग केवल वमष्ट भाषण सुनना चाहते हैं, सत्र् नहीं 

(b) लोगो की रूवच सत्र् में नहीं है 

(c) लोग सत्र् सुनना चाहते हैं, लेककन मीठी भाषा में  

(d) लोगों को अवप्रर् वचन से घृणा ह ै

Ans. (c) 
 

Q9. उपर्ुाि गद्ांश का उपर्ुि शीषाक होगा  

(a) सत्र्ं ब्रूर्ात् वप्रर्ं बू्रर्ात् 

(b) न ब्रूर्ात् सत्र्मवप्रर्म् 

(c) मीठी बोली 

(d) मनुष्र् का सवाशे्रष्ट अलंकार 

Ans. (c) 
 

Q10. ‘बातहह ं हाथी पाईर्े, बाताहह ं हाथी पााँव, पंवि का 

तात्पर्ा ह ैकक- 

(a) मीठी बोली बोलने वाले को पुरस्कार में हाथी 

वमलता ह ै और कड़वी बोली बोलने वाले को केवल 

उसका पााँव  वमलता ह ै

(b) वमष्टभाषी को कीमती पुरस्कार वमलता ह ैकटुभाषी 

को हाथी के पााँव तले कुचल कदर्ा जाता है 

(c) वमष्टभाषी हाथी पर चिता ह,ै कटुभाषी हाथी के 

पााँव से कुचला जाता है 

(d) वमष्टभाषी समादतृ और पुरस्कृत होता ह,ै कटुभाषी 

अनादतृ और दवडित होता ह ै    

Ans. (d) 
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KVS General Awareness & Current 

Affairs Memory Based Questions 
 

Q1. Seema Punia is associated with which of the 

following sports: 

(a) Athletics 

(b) Cricket 

(c) Kabaddi 

(d) Badminton 

Ans. (a) 

 

Q2. Who appoints the Chief Minister? 

(a) President 

(b) Chief Justice 

(c) Governor 

(d) Election Commissioner 

Ans. (c) 

 

Q3. Who received Sahitya Academy Award 2022 

for Hindi literature? 

(a) Anuradha Roy 

(b) Badri Narayan 

(c) Praveen Bandekar 

(d) Bhupinder Kaur Preet 

Ans. (b) 

 

Q4. Math the following: 

 
(a) A - 4, B - 2, C - 1, D - 3 

(b) A - 4, B - 3, C - 3, D – 1 

(c) A - 4, B - 1, C - 2, D – 3 

(d) A - 4, B - 1, C - 3, D -2 

Ans. (d) 

 

Q5. Who has been named as the ‘2022 Person of 

the year’ by TIME Magazine? 

(a) Vladimir Putin 

(b) Volodymyr Zelensky 

(c) Ibrahim Traore 

(d) Rishi Sunak 

Ans. (b) 

 

Q6. The clouds of the highest altitude are 

(a) Altocumulus   

(b) Altostratus 

(c) Cumulus   

(d) Cirrostratus 

Ans. (d) 

 

Q7. The Black Mountains are located in 

(a) Canada   

(b) Norway 

(c) Switzerland   

(d) U.S.A. 

Ans. (d) 

 

Q8. By which constitutional amendment the 

voting age was reduced from 21 years to 18 

years? 

(a) 47th Constitutional Amendment 19769 

(b) 61st Constitutional Amendment 1988  

(c) 87th Constitutional Amendment 2009  

(d) None of the above  

Ans. (b) 

 

Q9. Home Minister Amit Shah unveils 14 feet 

high statue of Lok Nayak Jayprakash 

Narayan at Sitabdiara in which state? 

(a) Rajasthan 

(b) Bihar  

(c) Gujarat 

(d) Maharastra 

Ans. (b) 

 

Q10. Which of the following is the highest peak of 

the Satpura Range?  

(a) Guru Shikhar  

(b) Dhupgarh  

(c) Pachmarhi  

(d) Mahendragiri 

Ans. (b) 
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KVS Reasoning Ability Memory Based 
Questions 

 
Direction (Q1-Q2): P, S, A, B, G, Q, N and R 
are eight friends sitting on a circular table, 
facing the center. A is to the immediate right 
of P, who is 4th to the right of B. G is 2nd to the 
left of P and is 4th to the right of N. Q is 2nd to 
the right of S, who is 2nd to the right of R. 

 
Q1. Who is 3rd to the right of P? 

(a) N 
(b) R 
(c) S 
(d) B 
Ans. (b) 

 
Q2. Who are the immediate neighbours of S? 

(a) N and B 
(b) A and S 
(c) G and B 
(d) B and A 
Ans.(c) 

 
Q3. In following question some statements 

followed by some conclusions are given. 
Taking the given statements to be true even 
if they seem to be at variance from 
commonly known facts, read all the 
conclusions and then decide which of the 
given conclusion logically follows the given 
statements. 
Statement I : Some bags are pockets. 
Statement II : No pocket is a pouch. 
Conclusion I : Some bags are not pouches 
Conclusion II: Some packets are bags. 
(a) Only I follows. 
(b) Only II follows. 
(c) Both follow. 
(d) Neither I nor II follow. 
Ans. (c) 

 
Q4. If ‘P’ is the son of ‘Q’ and is the father of ‘R’ , 

how is ‘Q’ related to ‘R’? 
(a) father 
(b) Son 
(c) grandparent 
(d) grand child 
Ans. (c) 

Q5. Identify the diagram that last represents the 
relationship among classes given below. 
Editors, Professors and Men 
(a) 

  
(b) 

  
(c) 

  
(d) 

  
Ans. (a) 

 
KVS Computer Literacy Memory 

Based Questions 
 
Q1. Full form of CPU: 

(a) Central Programming Unit 
(b) Central Progressive Unit 
(c) Central Processing Unit 
(d) Central Processing User 
Ans. (c) 

 
Q2. Which of the following Is an Antivirus? 

(a) Trojan Horse 
(b) Norton 
(c) Tinba 
(d) Stuxnet 
Ans. (b) 

 
Q3. Which of the following is a translator 

program used for assembly language?  
(a) Complier  
(b) Interpreter  
(c) Translation  
(d) Assembler  
Ans. (d) 

 
Q4.  __________ is also known as inkless printer. 

(a) Thermal printer 
(b) Inkjet printer 
(c) OCR 
(d) Dot Matrix printer 
Ans. (a) 
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Q5. What is the full form of DTP in Computers?  

(a) Desktop Product  

(b) Dynamic Technology Product  
(c) Desktop Publishing  

(d) Desktop Phishing 

Ans. (c) 

 

KVS Perspectives on Education and 

Leadership Memory Based Questions 
 

Q1. During the period of childhood, 

development-  

(a) consists only of quantitative changes  
(b) is disorderly and disjointed 

(c) Is slow and cannot be measured  

(d) Is multi-layered and complex  

Ans. (d)  

 
Q2. What frequently happens between 

adolescents and parents?  

(a) They compete for family resources  

(b) They violate one another's expectations  
(c) They reject one another's personal space  

(d) They get along well because they share 

similar levels of cognitive development  

Ans. (b)  
 

Q3. Which of the following is a cooperative 

learning strategy?  

(a) Shaping  

(b) Seriation  
(c) Social isolation  

(d) Reciprocal questioning  

Ans. (d)  

 
Q4. Instead of limiting classroom learning to 

textbooks, National Education Policy 2020 

suggests that learning and education should 

be  

(a) based on rote memorization of facts and 
knowledge 

(b) based on increasing students' content 

every 3 months 

(c) focused towards inquiry and 
development of critical thinking 

(d) focused towards learning for exams 

Ans. (b)  

Q5. In a socio-constructivist classroom which 
methods of assessment would be preferred?  
(a) Collaborative projects  
(b) Objective questions having one-word 
answers  
(c) Standardized tests 
(d) Tests based on mere recall  
Ans. (a)  

 
Q6. The main objective of school discipline is:  

(a) To provide a conducive environment for 
the teaching-learning process  
(b) To provide a safe environment for 
students  
(c) To ensure the safety of teachers  
(d) To identify delinquents so that they can 
be remedied  
Ans. (a)  

 
Q7. Which of the following is not a role of a 

teacher in the school guidance programme?  
(a) Identification of needs and problems of 
students  
(b) To create a harmonious and sound 
classroom environment for the students  
(c) To create a positive attitude among the 
students, parents and all others concerned 
towards school guidance programme  
(d) To relate academic subject with career  
Ans. (d)  

 
Q8. Which among the following is different from 

the characteristics of a Good test ?  
(a) Reliability  
(b) Validity  
(c) Objectivity  
(d) Aptitude  
Ans. (d)  

 
Q9. Which of the following statement is 

incorrect about creativity?  
(a) It involves finding one solution to the 
particular problem  
(b) It involves children in initiating their 
own learning and making choices  
(c) It emerges as children become absorbed 
in action and exploration  
(d) It is about taking risks and making 
connections  
Ans. (a)  

http://www.teachersadda.com/
http://www.sscadda.com/
http://www.bankersadda.com/
http://www.adda247.com/


6 www.teachersadda.com    |   www.sscadda.com    |    www.bankersadda.com     |    www.adda247.com 
 

Q10. Successful inclusion of students with 

learning difficulties in reading requires:  

(a) Compulsory learning of multiple 

language subjects  

(b) Reasonable exemptions from language 

subjects  

(c) Frequent use of punishment for students  

(d) Permanent segregation of these students  

Ans. (b)  

 

Q11. RTE Act prohibits:  

(a) Physical punishment and mental 

harassment  

(b) Screening procedures for admission of 

children  

(c) Capitation fee  

(d) All of these  

Ans. (d)  

 

Q12. National policy on education aims for:  

(a) Universalization of Education  

(b) Segregation of special children  

(c) Education of normal children  

(d) Exclusion of children with special needs  

Ans. (a)  

 

Q13. The strategy to remember a long string of 

letters by grouping that into memorable and 

meaningful parts is called 

(a) assimilation.  

(b) chunking.  

(c) conditioning.  

(d) meta-cognition.  

Ans. (b)  

 

Q14. Which of the following questions is related 

to procedural knowledge?  

(a) What is the capital of America?  

(b) What is the difference between map and 

globe?  

(c) What is the method of adding 3-digit 

numbers?  

(d) What is the definition of photo-

synthesis?  

Ans. (c)  

 

Q15. The ability to locate, evaluate and effectively 
use information is an important trait known 
as :  
(a) Critical thinking  
(b) Information literacy  
(c) Number of distinctions  
(d) Selective attention  
Ans. (d)  

 
Q16. Which of the following best describes the 

effect of heredity upon development?  
(a) Heredity determines how far we will go  
(c) It determines how far we can develop  
(c) It is the prime determinant of 
development 
(d) None of the above  
Ans. (b)  

 
Q17. Which of the following emotion will be 

experienced by a student when he focusses 
on lack of controllability and negative 
outcome value of an activity?  
(a) Pride  
(b) Hope  
(c) Enjoyment  
(d) Anxiety  
Ans. (d)  

 
Q18. Which of the following teaching-learning 

material will benefit inclusion of students 
with visual impairment?  
(a) hand written notes  
(b) pictures and diagrams  
(c) maps and globe  
(d) audio tapes 
Ans. (d) 

 

KVS English Memory Based Questions 
- Main Subject 

 
Q1. The Autumn gave golden fruit to every 

garden, but to the Giant’s Garden, she gave- 
(a) Flowers 
(b) None  
(c) Red figs 
(d) Golden leaves  
Ans. (b) 

 

http://www.teachersadda.com/
http://www.sscadda.com/
http://www.bankersadda.com/
http://www.adda247.com/


7 www.teachersadda.com    |   www.sscadda.com    |    www.bankersadda.com     |    www.adda247.com 
 

Q2. "and looked down one as far as I could 

To where it went in the undergrowth". 

The above lines are taken from the poem- 

(a) Wind 

(b) Rain on the Roof 

(c) The Lake Isle of Innisfreer 

(d) The road not taken  

Ans. (d) 

 

Q3. The poem wind is written by- 

(a) Subramania Bharti 

(b) Robert Frost 

(c) Phoebe Cary 

(d) William Butler Yeats 

Ans. (a) 

 

Q4. Why did Autumn not give golden fruit to the 

Giant's garden? 

(a) There were huge walls 

(b) The Giant was too selfish 

(c) There was a notice board 

(d) There were no children 

Ans. (b) 

 

Q5. Fill in the blanks with the proper 

determiner. 

Ajay has given ______ memorable 

performances both in India and abroad. 

(a) Many 

(b) So  

(c) Five  

(d) A 

Ans. (a) 

 

Q6. Out of the four alternatives suggested, select 

the one which best expresses the same 

sentence in Passive/Active voice. 

I found a ring in a pit near my house. 

(a) A ring was found in a pit near my house. 

(b) A ring was being found in a pit near my 

house. 

(c) A ring had been found in a pit near my 

house. 

(d) A ring is found in a pit near my house. 

Ans. (a) 

 

Q7. Choose the correct linking words for the 
following statement.  
It is a small house and requires a lot of 
repairs. _______, it is a long way from the 
center. 
(a) Moreover 
(b) So 
(c) But 
(d) How 
Ans. (a) 

 
Q8. Choose the correct form of adverbs for the 

given sentences. 
_______, I was able to attend the wedding.  
(a) Instantly 
(b) Luckily 
(c) Suddenly 
(d) Beautifully  
Ans. (b) 

 
Q9. Change the speech accordingly  

My father said to me, "Don't talk to your 
teacher like that." 
(a) My father warns me not to talk to my 
teacher like that. 
(b) My father warned me not to talk to my 
teacher like that. 
(c) My father warned me not to have talked 
to my teacher like that. 
(d) My father warns me not to have talked to 
my teacher like that. 
Ans. (b) 

 
Q10. Select the synonym of the given word. 

AFFECTIONATE 
(a) neglectful  
(b) aloof  
(c) sympathetic  
(d) suppressive  
Ans. (c) 

 
Q11. Select the synonym of the given word. 

CONSEQUENT 
(a) inception  
(b) ensuing  
(c) dawn   
(d) creation 
Ans. (b) 
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Q12. Fill in the blank with the appropriate 
preposition 
When she parted ______ her lover, her eyes 
were full of tears.  
(a) off 
(b) of 
(c) from 
(d) to 
Ans. (c) 

 
Q13. Choose the one that best expresses the 

meaning of the given idiom/phrase. 
A cold-blooded murder 
(a) An intentional /premeditated murder 
(b) To go on a vacation 
(c) To murder all members of a family 
(d) To murder with no weapon 
Ans. (a) 

 
Q14. Select the word or group of words that is the 

most opposite in meaning to the words in 
capital letters. 
PROCRASTINATE 
(a) To be prompt  
(b) To adjudicate 
(c) To teach  
(d) To help others 
Ans. (a) 

 
Q15. select the alternative which is the best 

substitute of the phrase. 
A place where everything is perfect 
(a) heaven 
(b) platoon 
(c) cosmos 
(d) utopia 
Ans. (d) 

 
Q16. Select the alternative which is the best 

substitute of the phrase. 
Decision that cannot be taken back 
(a) irrevocable 
(b) rigid 
(c) order 
(d) brief 
Ans. (a) 

 
Q17. Choose the correct option for the given 

sentence. 
He was waiting at home all day when she 
sent him a message. 
(a) Past Continuous Tense  
(b) Past Perfect Continuous Tense  
(c) Past Perfect Tense  
(d) None of these  
Ans. (a) 

Q18. Kalpana Chawla made history as she was the 
(a) The first engineer astronaut to do so 
(b) The first Indian - American woman to do 
(c) The first Indian woman to do so 
(d) The first American woman to do so 
Ans. (b) 

 
Q19. In the story ‘Iswaran the storyteller’, from 

where the tusker escaped? 
(a) From the room 
(b) From timber yard 
(c) From the backyard 
(d) From jungle  
Ans. (b) 

 
Q20. She has bought some cloth; she _______ 

herself a skirt. 
(a) Will make 
(b) Is going to make 
(c) Has to make 
(d) Would make  
Ans. (b) 

 
Q21. Select the correct linking word. 

We need to use good products _______ make 
sure the meal is delicious. 
(a) Despite  
(b) So  
(c) And 
(d) In order to 
Ans. (d) 

 
Q22. Choose the correct option for the given 

sentence. 
She has sung a song in the classroom. 
(a) Present Continuous Tense  
(b) Present Perfect Tense 
(c) Simple Present Tense  
(d) Present Continuous Perfect Tense  
Ans. (b) 

 
Q23. Fill in the blank with the correct conjunction 

The gold is hidden at the beach ______ by the 
lakeside 
(a) And 
(b) Or 
(c) Along 
(d) Than  
Ans. (b) 
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Q24. Fill in the blank with the correct modal 
_________ we visit Grandma at the weekend? 
(suggestion/possibility) 
(a) Could 
(b) Should 
(c) Can 
(d) Will  
Ans. (c) 

Q25. Put the verb in the correct form 
I ________ the Taj Mahal last year. 
(a) Visited 
(b) Visit 
(c) Visiting 
(d) Visits  
Ans. (a) 
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